MG o] M el Aoy 242} x, x4+ 2, x+4 2L &
Sk 4= Q= x e 1S oY

D x>2 @ x<2 @ x>1
@ 0<x<?2

® x<1



)

sy o
tlo >

@ 3 A © 4 A 30 % © 6 Al
® 8 Al @ 9 Al

0,60 22006 006 ®oo60 0006



o8

op

1080 ° o]t}

ol
__OH

1

T

N

o
O
P

A

ﬂmo



)
TF

<

ol
NI

o
B
~

oju

3} o] Foi7

©
=

Al el 2oz} ot

4.

olJ
G5

@ 3,4, 6 ® 4, 5, 8

D 2, 5 7

® 6,7, 10

@ 5,5, 5



O 56°

@ 66.5°

@ 70°

@ 77.5°

® 80.5°



o} e 5 wel

s

ZAol7} 242 5em, 8cem 2L

@ 5cm @ 10ecm @ 13cm ® 15cm

@ 3cm



=42l dol=?

-8cm- -~

~

® (167 + 8)cm

@ (87 + 16)cm

@ (87 + 8)cm

® (167 + 24)cm

@ (167 + 16)cm



8. U2 1Yol 27ty ABCDE oA zx + 2y 9] 371&7

O 144° @ 146° B 48° @ 150° ® 152°



@® 108°

Jolt}. TNA BAH 7] 7]9]

@ 110° @ 112° @ 114°

ok

® 116°



10. e 297 @ol AA7 6 Al 45 B2 Fhel wf, A3 £3o]
ol 7t Foll A 2 %o 7o) 374

D 210° @ 235.5° B 248.5°

@ 292.5° ® 295°



